mn rwynm oxn Powo ) — W IND FRT IR T3 7w R ] P (T Ro) noan

82.067T
F

¥ Tl nnaoinuxa

JUIPE TPANAD TN FW IS0

o
T — temp( K) TWKD MMIVIBNLA NN 17X TR 11 70 70 70 0930 1w 23100

»P=ypressurelat)
LU ]
temp=273

pressure=5.9

JNY NIN DNAY NIVI9NLA NI YN72 [N 17N TaN ND)
.Ta'72 17w NN1I019N0N '1'YUN TAN ND1 YOWIN TX'D 07X 1IN

82.06 d 82.06 d 82.06 3 0
V(P,T) = P T => EV(P,T) =T => EV(S")’ 273) = W = 13.91cm’/°K

47"'n0 13.91 -2 1n91 N7Tan? nna NN (J'17) N7un2a 120 NNI0TSNL NNAAN L DAl

.TA'72 17W YN0 '1'wn 1an ND1 YyOWINn XD PITa7 "yn

1 d -1 d -1
V(P,T) = 8206TF => EV(P'T) = 8206Tﬁ => EV(S.'), 273) = 82.06- 273@ = —643.56 cm3/at

.7'N0 643.56 -1 TAN ND1 NILVFNT7 NNIIA ,NNX NN90INLVXA (NIO'NTN) YN7N N7TaN

flzy)= 2442 (z.9)#(0,0) -
o (zy)=(00)

FASNT ANN A OISW D a 10

X% + y? — x3y3
[ , (¥ #(0,0)

a ’ (x;y) = (0) 0)

Sy X 17onn X'T) y = 0 wuny, (x,y) = (0,0) nTizaa "2 WK INWYD 71700 101

x2+0%2—-x3-0°

f(x,O) B x% + 02 0 => f(x.()) - {a , x=0 =>
a ) X =
2 + yZ _ x3y3
x2 4+ y2 — x3y3 X | oy % (0.0)
= ("'3’)1—1}(1‘"0) x2 + y? =1 => fay= x? 4+ y?

1 ) x,y)=1(0,0)

.1 -7 anw nira? a 7 ,"inn nx omo?” ' .(x,y,z) = (0,0,1) nmpia "un" nw' n¥zasn nowna
. Z ¥ ppnn (71700 nT'Ra KT (110 NT'RNA NIWN T 'K D OXIELDYR 71220 101D NN



